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ThIS Little Indian Boy
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This little Indian boy is singing.
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He's singing with a little kitten.
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This little Indian boy is digging. hole 73
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He's digging a big, big hole. sing =2 3HCH
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This little Indian boy is kicking a stick.
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He's kicking a thick, thick stick.
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This little Indian boy is picking flowers. dig IiCf
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He's picking little pink flowers. TS S Hifes
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This little Indian boy is fishing.
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He's fishing for a little fish. . -
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This little Indian boy is spinning a dish. chief =%
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He's spinning a big, big dish. fish =17], ‘wct
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And this little Indian boy is kissing.
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He’s kissing the chief with a wig.
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The chief with a wig says, “This little boy made my day!”
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Higher and Higher!
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Five tiny spiders glide on a glider.

ChA o2 %2 AHO0|S0| Z2t0|HE EtR.
Up to the sky, higher and higher!
St=7tA, o =0| H =o|!

“Gliding on a glider is fun!”
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Five tiny spiders ride a bike.

ChA O] %2 AO|S0| APHAHE EfR.
Up to the hilltop, higher and higher!
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“Riding a bike is fun!”
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Five tiny spiders climb up the slide.
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Up to the top, higher and higher!
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“Climbing up the slide is fun!”
‘OnEsSs St A2 3 MoIAA
Five tiny spiders slide down the slide.
ChAd Of2] %2 #0|=S0| DNHEES EfR.
“Wheeee!”
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“Sliding down the slide is NICE!”
‘ONEES Efs A2 Fop”

“One more time!”
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